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Note: All questions are compulsory. All questions carry

equal weightage.

1. Answer the following question in about
600 words :

Compare operant conditioning with classical
conditioning. Explain the educational

implications of operant conditioning.
OR

Discuss the strengths and weaknesses of

technology as a surrogate mother.
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2. Answer the following question in about
600 words :

Explain the meaning of self-learning. Discuss the
factors to be kept in mind while designing print
materials for self-learning.

OR
Explain the concept of ‘interactivity’. Discuss the
use of various media which can improve

interactivity in the teaching-learning process.

3. Write short notes on any four of the following in
about 150 words each :

(a) Differences between formal and informal

communication
(b) Presentation formats of video programmes

(¢) Use of technology for professional

development

(d) Compare computer-based training with

web-based training

(e) Developmental testing to ensure quality of
SLMs

(f)  Five steps of the SQ3R system for improving
reading-skills
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4. Answer the following question in about
600 words :

Select a topic of your choice for producing a video
programme and describe the steps you will follow
from ‘storyboard stage’ to ‘final programme

production stage’.
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